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Connectors:

Connectors are those which
connects the two sentences.
Connectors are of two
types. They are

1. Supporting or positive
connector

2. Contradictory or negative
connector
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Supporting

And

But

Similarly
However

Like wise
Contradictory
Despite this

In the same vein
On the other hand




i912151 SSC 2023 LIS

By knowing the supporting and contradictory
connectors, the arrangement of sentences Is
easy.

Example: John and Sam goes to market.
(Supporting connector)

John goes to market but Sam goes to school.
(Contradictory connector)

Words In the beginning and end:

Some words usually gives hint if observed
with proper attention, that from which the
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Beginning

Firstly

Initially

First and foremost
Firstly, secondly, lastly
End

In conclusion

Hence

Thus

Therefore, last but not the
laact
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(QUESTIONS ASKED

IN PREVIOUS YEAR
EXAM)
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1. All animals have

P : have memory

Q : animals do not

R : sensation but some nm
1) QRP
2) PRQ
3) RQP
4) PQR

Correct Answer: RQP
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2. Bringing equity

P : for the rural population should be

Q : a priority for the National Health Mission
R : in access to the doctors and medicines

1) QRP

2) RQP

3) PRQ 10:30

4) RPQ

Correct Answer: RPQ
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3. Students who

A : intricacies of learning it

B : subject know the

C : study logic as a

Options:

1) CAB 0:30
2) BCA

3) BAC

4) CBA

Correct Answer: CBA
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4. Attaining long-term food

P : security requires the

Q : raising of incomes and

R : making food affordable

1) PRQ 0:30
2) QRP

3) PQR

4) RPQ

Correct Answer: PQR
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5. The need

A : the highways has
B : been felt over the years
C : to curb drunken driving on

1) BCA
2) CAB
3) BAC
4) ACB

Correct Answer: CAB
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6. Cities have

P : intellectual stimulus
Q : always provided
R : and educational leadership

1) PQR
2) RQP
3) QPR
4) PRQ

0:30

Correct Answer: QPR
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7. It is ethics and

A-values that have the inherent
B-of motivation into inspiration
C-potential to transform the spirit
1) ABC

2) ACB

3) CBA

4) CAB

Correct Answer: ACB
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8. The invention of the turbine by

P : the beginning of jet transport

Q :in Germany in 1939 signaled

R : Frank whittle in England and Hans von Ohain
1) QRP

2) RQP

3) PQR

2 PG '0:30

Correct Answer: RQP
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D HOME WORK T

Work is the one thing

(P) and without it

(Q) that is necessary

(R) to keep the world going
(S) we all should die

The Correct order is

A. PQRS B. QRPS C.
SPRQ D. QRSP







